MOO/: 2 %g‘EN Y12709 - Modular Beam Seating Table Assembly Instructions

extention beam

u-bracket

Tools Needed:

u-bracket
]

(A} - Rubber Mallet

1
1
——
M6 X 16 csk allen cap screw HH
1y
|

e M6 X 16 csk allen cap screw

It 0 (6}

1.) Insert the extension beam into the end of one beam seater. Use a rubber mallet to tap in.
Secure to beam with M6x16 CSK Allen Cap Screws.
2.) Insert Gliders into the Support Foot/Base if you haven’t done so already.

3.) Secure upper U-Bracket over beam and Support Foot/Base with M10x55 Allen Cap Screws. Repeat

steps for connection to the other side.
M6 X 16 csk m/c screw
b\

M10 X 70 allen cap screw

- Allen Wrench (included)

II é Diagram “A”
Front View
r

M10 X 100 allen cap screw adjustable glide

table

M10 X 75 csk allen cap screw

QL

corner table beam

4.) Insert the corner table beam into the extension beams. Tighten with M10x75 CSk Allen Cap Screws
and M10 Hexagon Nut.

5.) Attach the Table Supports to the Table using the M6x16 CSK M/C Screws.

6.) Attach the Table Supports to the beam using the lower U-Brackets and M10x70 Allen Cap Screws.

Questions? Call Customer Service at 1-800-443-5117, Monday - Friday 8:30 AM to 5:00 PM Central Time
www.modernofficefurniture.com



